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Question 1 Identify which of these circuits is a parallel circuit (there may be more than one shown!):
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Question 3 According to Ohm’s Law, how much current goes through each of the two resistors in this circuit?
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Draw the paths of all currents in this circuit. 
Question 4
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Question 6
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Complete the table of values for this circuit
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The cireuit shown here is commonly referred to as a current divider. Caleulate the voltage dropped
across each resistor, the current drawn by each resistor, and the total amount of clectrical resistance ”seen”
by the 9-volt battery:
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Draw the connecting wires on this terminal strip so that the three light bulbs are wired in parallel with
each other and with the battery.
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Question 2
tor in this circuit:

Determine the amount of voltage impressed across each ra

15v 100 Q

Hint: locate all the points in this circuit that are electrically common to one another!




image4.png
4.7kQ





image5.png
Complete the table of values for this circuit;
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Question 5

Caleulate the total amount of current that the battery must supply to this parallel circuit:
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Now, using Ohm’s Law, calculate total res
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